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Table 1 Test Result Rev.
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Test case Input specification Output specification Pass/ Fail
Identifier

PTS.STC.000.000 | (H{A)ZZ2 124 AH (H2)0| 523, ©5(0) 3HAHL) P

PTS.STC.000.001 XstE)omZ 0z Al (X|stE)o|=2e ™ P

PTS.STC.000.002 | (AihZ=Z3 MM 3 (34h P

PTS.STC.000.003 | (Z7|sh=z 0z Al (E7|=h=7|zH P

PTS.STC.100.000 AFE X} Ef) O|E(X|X), FEEZHZ | (A|EXFEfD)Inout:n, Transportaion n, | P

O balance : 999999, Ef& (0) SAFQ) : 0
PTS.STC..100.001 | (AF2XIEf) Of (A XHE O)Inout::user infoIn_out, | P
Transportaion : user Info.transportaition
balance : 999999, Ef& (0) SAFQ) : 0
PTS.STC.101.000 | (55HAHEF)0, LSRR E) &K Al p
St o|Ct
PTS.STC.101.001 | (BotAtE25)1 (ESHKIER) SFXF Al P
SHAH iy of Cf
PTS.STC.102.000 | (5%h0, (&ZAE) IN, AJZt : 00:00, = : 999999 FhoH P
999999
PTS.STC.102.001 Z=%Xh0, user info.balance<500 =Xh Q20| E&310] £kt 4= gl&LcHl | P
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PTS.STC.102.010

(£%XhH0, user info.balance>=500

flet USRI SHo| SEs B#

(XD IN, AlZt 1 00:00, =4

:0

X}oH
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: 999999

PTS.STC.102.011

(&%H0, user info.balance>=1050

(SA) IN, AlZt : 00:00, =
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999999
PTS.STC.102.013 | (£%XH0, user info.balance>=1750 (ZXH IN, AlZb : 00:00, 2 : 1750 Xt
999999
PTS.STC.102.014 | (£%X}H0, user info.balance>=1250 (ZXP IN, AlZb : 00:00, = : 1250 2t
999999
PTS.STC.103.000 | (8}Xh)1, user info, current info (SFXH OUT, A|Zt : 00:00, =24 : 999999 ZioH -
SHAMA 5 42 Al =Y =l | 999999
gs odgd e 0¥
PTS.STC.104.000 | (X7|3}), secTime = 3:00 (£7|=h x=7|3H
320| E|M x7|3} E|l= 2 =l
PTS.STC.200.000 | (Af2X} Ef1) O|E(X|=X), XXFSHZ | (AF2XF Ef2)Transport :n inout :n balance :
ol 999999, &5 (0) SFXHI)
ArExt o] 50| U E|ARS uf 0| F0|
fle 2@ X 34 o4F
PTS.STC.200.001 | (AFEXIEfT) O|E (AFE2 X+ Ef)TAG TIME 00 : 00, ====user
AtEXL o|80] &3 E|U2 o 0|&0| | information====, lasttagtime : 00 : 00
EZXsiM sl SHHPEE S2{24L | transport : METRO input : BOARD, balance:
999999, terminal : X_9, E&(0) StXH1)
PTS.STC.201.000 | (B3IK£3)0 SR R) AP Al
02 &t
PTS.STC.201.001 | (BotAtE5)1 (ESHKIER) SFXF Al
12 S}t
PTS.STC.202.000 | (5%H0, (EXHA(b), ZE©) ME() ), sFA
X|SHEOIM SXIAl ZF HS MENBICE | (f)
PTS.STC.202.001 | (5%hb, (5AN7ZACH, 9999, At ni~~
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PTS.STC.202.002 | (Z%h)c, (BEAHAE 9999%, SAt na~~ P
PTS.STC.202.003 | (Z*Xhd (EXhHAIE 99998, &Kt n~~ P
PTS.STC.202.004 | (5*he, (EXhet™, 999991, £X 1 a~~ P
PTS.STC.202.005 | (Z%hf, (EXH=HA}L, 999991, X T ~~ P
PTS.STC.202.000 | (&%h b|c|de|f, user | (BXhR 20| EEsIA Skista £ &L |p

info.balance<Currentino..balance + | CHN

p600
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PTS.STC.202.001 | (p&%h) b|c|delf, user | (BxhQ 20| HZSHA LkFSHA = &Ll | P

info.balance<Currentino..balance + | CHN

200

X|sHE0IM SHXIAl O)ELe 2 RIS

m ChS XISHE SXHAl 200@0] 7}

T =%0| 2xjzFL
PTS.STC.202.002 | (&XH blc|de]f, user [ (EXHRSO0| F=HWAM Skt = {iEL | P

info.balance<Currentino..balance + | CHN

700

X|SHE0M HAR 255t O)H4ate

2 zie o o2 XY A% o #

& A2 70080] £71E AL
PTS.STC.202.003 | (5Xh bjc|de|f, user info.balance>= | (EX}HEO|E 99992, EX D a~~ P

Currentino..balance + 600
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olot SUBKII, FAUO| FEHAS

PTS.STC.202.004 | (&%) b|c|de]f user | (EXHO0|2, 99998, &K D ~~ P
info.balance>=Currentino..balance
+200
PTS.STC.202.005 | (35X bjc|de|f, user info.balance>= | (EX})HO|E, 9999¥, Xt n~~ P
Currentino..balance + 700
PTS.STC.203.000 | (5txh1 (GHht(b), ZE() AE(d) ede), sHAH| P
SIXRAl Ol=Cloll M SHkFE ZOIX| 2 | ()
QIBICL. SHXFSIAL S2| o= 07|M
X 2| Elct.
PTS.STC.203.001 | (StAHb (SFRHZALH, SHAFA] =72 F : 999999 P
PTS.STC.203.002 | (S}At)c, (SFRHZ Lt SEAIA| F=7FR2F : 999999 P
PTS.STC.203.003 | (s}Ahd (SFRHAIE! SFRIA] FE7FR2F : 999999< P
PTSSTC.203.004 | (SXbe, (SHDEY, SHAHAl $7k2.3 : 9999998 p
PTS.STC.203.005 | (51 (SHAHS HAL SHARAl F7t23 : 999998 P
PTS,STC,204.000 | (X7|3}), secTime = 3:00 (£7|=h x=7|3H P
320| 51 X|3pHe| HE(WY)o| =
718} E|l=X] =2l
PTS,STC,300.000 | ("d4h secTime = 3:00 (HdAH n&#Hm : Lt = 00 : 00 p
nEHR :tr = 0|1
nHHAY : fee = 99999
nEHA : terminal = a|b|c|d|e|f_n
PTS,STC,300.001 | (M&)n®H®R] : Lt = 00 : 00 (F%) busCompany.txt, subwayCompany.txt P

nHRE :tr = 0|1
nRHW : fee = 99999

Team 4




=

Ver. 1.0

rE

i >
et rx
>

[m]

r| o o2 o
w H

= o

%
M
0

: terminal = alblc|d|e|f_n

7t EDjgEEE P4 A
L BRI FS BHA AN
X2 SEE AL a4 SUR

Team 4




Test Case ‘Ztdd’

""" metro - | 2 %&
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=
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lTasttagtime : 0:2
transport : BUS
inout:LEFT
balance: 1??00
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Test case d4t

(HA->X[SHE->HA &0 =2 250 2HA=ER)
HAOAM Esadl} SHAtEH2 Hota X[SHEHOME FA| E5ot SIXtaHS Gttt ol §s5o2 2 DL 2 HFT @f=rt
ZN™ o2 HAZI4Q X[SHE 2710f| et HAQ 2 HH L, O|of CHSH FHuits AlsH =Lt
busCompany -mzzd - B bus - 0| 2% - b
oA HE@E MA©O) 22V =22H) oeE HEE MHO) 27IV) ESE(H)
0:58,BUS, 135281 18, BUS 1@ 058 BUS BOARD 1250 a_ 1813 BUS LEFT 0 a_181:15 BUS BOARD O a_1[1:57 BUS LEFT 100 a_1§
- metro - H2& - O
metroCompany - M=% = YR ®HYE MO =27V ESTH)
oeim HE® MA©0) 220V =5Z(H) " |0:52 METRO BOARD 1050 c_181:7 METRO BOARD O a_181:11 METRO LEFT 600 a_1§
0:52 ,METRO, 105CE1: 7, METRO, 4968 i
= ~/t4 - o

H 1asttagt1me = 0 52
H o~ (0) / ®ooE (L)
: fee = 1050

: terminal = c_1
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2 (0) f RS E

: fee = 1383

: terminal = a_1

H 1asttagt1me
o8~ (0)

: fee = 4 6
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